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But: existing predictions only provided 
rough estimates for the with-density-
growing EFT truncation error, and did 
not account for correlations
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yk = yref

k∑

n=0

cnQ
n δyk = yref

∞∑

n=k+1

cnQ
n

∆yn = yn − yn−1


������� ������������������	���
�

��������
����

"

2c̄

Q =
max {p,mπ}

Λb
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[
µSv

µL

]
=

[
31.7
59.8

]
Σ =

[
1.24 3.27
3.27 16.95

]

S2(n) ≡ Sv +
L

3

(
n− n0

n0

)
+ . . .
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�
pr(Sv, L | D) =

∫
dn0 pr(S2, L |n0,D) pr(n0 | D)

pr(n0 | D) ≈ 0.17± 0.01 fm−3
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P (n = 0.32 fm−3) ≈
{
20± 6MeV fm−3 MBPT: nonlocal

15± 5MeV fm−3 QMC: local VE,1
c2s(n) =

∂P (n)

∂ε(n)

P (n) = n2 d

dn

E

N
(n)
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